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Li | Be B|C|N|]O]| F|Ne
69190 10.8(12.0114.0|16.0{19.0|20.2
11 | 12 13114 15|16 | 17 | 18
Na | Mg Al| Si| P | S | Cl| Ar
23.0(24.3 27.0(28.131.0|32.1{35.5{40.0
19 |20 | 21 | 22|23 (24 |25 |26 |27 |28 29|30 |31 (32|33 |34 ]|35]36
K|{Ca|Sc|Ti |V |Cr|Mn|Fe|Co|Ni|Cu|Zn|Ga|Ge|As | Se | Br | Kr
39.1/40.1[{45.0147.9(50.9|52.0|54.9(55.8|58.9(58.7|63.5|65.4|69.7|72.6|74.9179.0|79.9|83.8
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70’ (aq) + 2¢ — Zn(s) E°=—0.76V  Co’'(ag) + 2¢ — Co(s) E°=—028V
2H'(aq) + 2¢ — Hx(g) E°=0V Ni’'(aq) + 2¢ — Ni(s) E°=-—0.23V
m E~FEXR»r7#
Cu’'(aq) + 2¢ — Cu(s) E°=+034V  Ag'(aq) + ¢ »> Ag(s) E°=+0.80V
R (DR Es erd Ses ? [14]

Q&I £ ST =2 [14]

()& 4E %L; Lk [24 0 2 BA]
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(® ) 0.1 MNaHCOs(aq) : [H*]+[Na*]=[0H*]+[c032*]+[Hc03*]
(z ) pH=3 5 CH3COOH(aq) ¥2 pH=11 " NaOH(aq) % ##:2 & : [H']<[OH ]
(f) 0.1 MNH4Cl(aq) : [CI ]>[H"]>[NHs ]>[OH ]
(7 ) 4Pk ik B 7 CH;COOH(aq) = CH3COONa(aq) % #4%i2 & & :
2[Na"]=[ CH3;COOH ]+[ CH3COO ]
( ~) NH4HSO4(aq) ;§ » NaOH(aq) I % % crpH=7: [Na']>[S04 ]>[NHs']>[OH ]=[H']
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ScBokHRG RS ¢ R T IFSRRIGH  FR R T RORRIEA - BB AT E R ko 8
Best (FTgr) (24 2% %4]

6 - $:23i% § $ NaxCOs ~ NaHCOs » B~ 50 & = 5 & i3 i if %1 At ¥ 8L * 221 2 2
0.100 MHCI 3% o T B~ 50 & 24 A3 i %5 7 A 2 2.2 % 484 & 2 2 0,100 M HCI i 5%
CHEFE AR LA PP FLEAER - [44])
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7he et 3BT 0 BRY  LOMNHCN s0ki3 % » 3Rt ki3 i shpH =2
(%% 7 HON 67 Ka=2x 1010 ; NH; :h Kp=1.25x10") [3 £ ]

8~ A ihd =d9 (Hb) % %2 O2% &2 = HbO, rﬂw*"*‘ﬁi%]ii 4 o % CO v » e
' Bl g %24 F ik CO+HbO2 = O + HbCO » 3% A #8142 F «nfia) o TR R RihT gk
ﬁx’*’?{é’i?"]~IE??.5$°§%’%@B;;&W%]»§%%; (@'fs'm)’ %4@;@%,&5‘5-@» CO 4
O kAR A B 5 1.0X10 *MFr9.9x10 *M R & 7 # » AR HbO2 kB M chg it (4 & 11

)0 %o T BATA o 3K > CO+HbO, = O+ HbCO F et fird #2495 5 2 [3 4]
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10~ & & @
Mg(s) & ZF#. /A\H| =+ 148kJ / mol ;
Mg(g) ;= Mg*(g) s54tic AH= +2187kJ / mol ;
Bry(l) &7 i # AH3=+31kJ / mol ;
Bry %t s AHa=+193kJ / mol ;
Br(g) & + ®4r+ AHs=+331kJ / mol ;
MgBr(s) &2 = # AHe= —524kJ / mol ;
Mg* (g) =k & it AH7=—390kJ / mol ;
Br (g) =k & it AHs=—80kJ / mol
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(B3 5 P83 RMMED %o 5% T4 Fe(OH)s 2 Kp=4x107* ; Mg(OH), 2
Kop=1.8x10"11)

12~ 5 -7 24678 > BP9 - RARLE /L P AgCl(s) + ¢ > Ag(s) + Cl (aq) > E=021V > &
é‘lm%%&;f};%r TimA TE° (Ag /Ag) =080V e ik bk > 328 M AgCl a3 B % #kc o
(BKip e g3 kR 5 IM> 28R £25C) [4 4]
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15~ 3T > £2M~20mL ¢ HCO3i3 % ¢ » * 2M hNaOH 3 iR F 2 % - B § BB » Rt ph
AaenpH @5 50 2 (HaCO3 e Ka=4x107 > Kp=4x10 ") [4 £ ]
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N I i’irs % i Roe s o foi BT s 1% #4475 $ (Carbon Capture,
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ZHRERRRHMRP (L= K204

1 ~ &% (hybridization) 2% £_i* & 7% #7 - ##+k (Linus Pauling) ** 1931 & pr% 41 > 18 kx4
RiZpg* g ifai s ;fﬁ'pi’}#m% PERR éﬁ‘}’;ﬂ KHRErP g4 2R P ELRIER,
KL A A LR R L R B R B TS BT 4 (GHY) A3

Aj o Tl g A+ s« (LHCC ¥ ZHCH)-[8 4]

2% B F R (CHEAAF )
RGBT AFRRER R OF RGN F R LT RTREEER [64])
MHT P AT WeiR iR 230k At 0.02 M KIOs(aq) % % B 1 0.002M NaHSOs(aq) ~ 4
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